Z
[IA]

O]l & AF & & Ml A

20198 &= =S0l& LB EZESH
AN EIESH
HE: MotaE +EBEl AZe 2
&?e: =283 ES (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SIS 10,534,125 8,202,261 2,331,864
= 908,222
s 465,000
J| 65,699
< 134,978
s 8,960,226
ot =Fael olZer RF 928,474 188,389 740,085
s 365,000
J| 65,699
s 497,775
=EEE B35 891,499 151,499 740,000
s 365,000
J| 65,699
[ia 460,800
g2 H =22H 46,000 42,000 4,000
201 Let24d] 40,000 0 40,000
02 2324gHl 40,000 0 40,000
OMTZBAHTEOS 2L
35,000,000& 14 35,000
OZdusz dIIes 5,000,000 » 14 5,000
202 O4dl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
ostzg el g2 3,000,000 » 14 3,000
203 YR =&l 3,000 4,000 A1,000
03 AIBFAH S =AY 3,000 4,000 A 1,000
OetZdEs gfFd 3,000,000& x14 3,000
+HAETHH(EX) 65,699 65,699 0
J| 65,699
207 A RO 65,699 65,699 0
J| 65,699
01 A3l 65,699 65,699 0
OgEekatel AEAE o1 EIt 55,000
J| 55,000
OgEael &, 42A4 2UHE 10,699
J| 10,699
=EHEN 20,000 20,000 0
207 RO ] 20,000 20,000 0
01 A3 39| 20,000 20,000 0
O+WAEYH 2 8% =
20,000,000& » 14l 20,000
SHS MEotE SJAAY(AHH) 29,800 23,800 6,000
101 @124 dl 9,600 9,600 0
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2N
X ZH -
L= B

el

#2295
N S E
+HBY B35

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
04 JI2ZtHIZ2 2 NEES 9,600 9,600 0
OMEHSIE SANEL(FEHIANE Hx=EYE =S
) 3,200,000 *33] 9,600
201 Bt 49d]| 8,200 8,200 0
01 AP 22| H| 1,000 1,000 0
O&Hl Y= 1,000,000 1Al 1,000
02 23244 7,200 7,200 0
Ox=&ABALE, IISE Z222=2
600,000 x12& 7,200
401 Al HI L £ 0HHI 12,000 6,000 6,000
01 Al& b 12,000 6,000 6,000
O=2&d3 MHEGIE E|)AY R2LUHZE A=
12,000,000 » 14 12,000
XA MEHoIE 2RAS 730,000 0 730,000
Fag 365,000
= 365,000
401 AlEHIZL 2 0HY| 730,000 0 730,000
Fag 365,000
= 365,000
01 Al&EH| 725,401 0 725,401
OHEXAN MEHSIA SSAIS 725,401,000 14! 725,401
g 365,000
= 360,401
03 Al 201 Y| 4,599 0 4,599
OEXA MEIGIE S ALY
730,000,000%0.63% 4,599
CAZE HHESAIE 22 36,975 36,890 85
S AEQQASEUESAILE 22 31,375 31,290 85
201 et 27,375 27,290 85
01 AR 22l ] 10,650 10,650 0]
Ol A2 MYy 22 1,400
— 22 HE=-(2L) 1,500& 4004 600
— n-HXH £= & (500mL) 4,000 %100 400
— 27 =9 (200mL) 1,000 *400H 400
OH=HI&=Ad SHLX HE
1,000,000 x 14! 1,000
OHZ% 28 & 2 A =42 (BDS 51 &=2)
23,000 5004 &~ 1,150
OHZEHEAIE NEEZNH HE =&H|
1,200,000 x14 1,200
OF=EEL ¥ g .y 221 HE
1,000,000 14! 1,000
OIII=2HEAE NEEEE 222 2¢
3,000,000 1 3,000
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SASS I
ANAMERH SHES
AAEd X 22 Chel: ® &)
- RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
NAES A K& 6,000 4,000 2,000
301 LBt A= 6,000 4,000 2,000
09 SHAIAHI EAZ 6,000 4,000 2,000
OXNHES MHOIL 2O 1,500, 000& *13] 1,500
OXNHABESSHE HE JEA F4
1,500, 000& *13] 1,500
OMNES A5 MOoILE &4
1,500, 000& *13] 1,500
Otdsgs d=2nus 4o 1,500,000& 13| 1,500
OfM=EE2 mOofie(EX) 736,948 167,814 569, 134
= 97,814
=} 30,938
= 608, 196
401 Al HI L 2 0HHI 100,000 120,000 A 20,000
= 50,000
=} 15,000
= 35,000
01 Al & H| 100,000 120,000 A 20,000
OOMM=S= Tl AL (XHEHAIE)
100,000,000 14! 100,000
= 50,000
& 15,000
= 35,000
402 SI2tXHE0| & 636,948 47,814 589, 134
= 47,814
= 15,938
= 573,196
02 BIZEXI2 AL EX(0IETHS) 636,948 47,814 589, 134
QOtM=Z2 HoHMZEA (HIISEE])
636,948,000& 14 636,948
= 47,814
o=t 15,938
= 573,196
OrM S =2 10l ol Ol & 35,000 212,510 A 177,510
201 et 9| 5,000 5,000 0
01 AP 2t 2] H| 5,000 5,000 0
O0MESE Il RFE 23
5,000,000 =1 5,000
301 et A= 30,000 22,000 8,000
12 JIEtE2 A= 30,000 22,000 8,000
ORMNotMs=2 OolLXNSt 2SS XA
30,000,000 x14 30,000
OS2 I (EXR) 400,000 40,000 360,000
& 4,000
= 396,000
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SN BALSY
Mz NHAMEHH B ES
G s EX e (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 400,000 40,000 360,000
== 4,000
= 396,000
06 22 400,000 40,000 360,000
OO0M=2 T2 AAY 400,000,000 14 400,000
= 4,000
= 396,000
OfM == Ilol 2 & 14,000 184,000 A 170,000
201 gEt24H Y| 7,000 4,000 3,000
01 AP 2t 2] d| 7,000 4,000 3,000
OMESZE T2 a d2FX 4,000,000%14 4,000
OOFMES=E HIHEA =2 3,000
301 et A= 7,000 0 7,000
12 JIEtE A= 7,000 0 7,000
Ot sE dlol2 a3 7,000
FEd MEz32t ZHAY 68,716 194,000 N 125,284
101 2121 4| 30,216 18,000 12,216
04 JIZtHIZ22XNSES 30,216 18,000 12,216
235 x3F AMMIYE H=&S
4,000,000 33| 12,000
O=2&83s S =&Y 2,000,000 *33] 6,000
O=3ds 0ta2 =gy 2,000,000& *33| 6,000
ONAHAZXMI (HAEME=X) ol =&
1,000, 000& *33] 3,000
Oz AN S&A KAl
67,000& *43| x 1201 & 3,216
201 LBt | 10,500 8,000 2,500
01 AP 22| H| 5,700 5,000 700
O=3ds =20, 0ta 2 X2l
5,000,000 =1 5,000
O24 HWEHM St&EA X222l 700,000 1 700
02 3%l 4,800 3,000 1,800
O=sd3s 2, 0tad A2l
3,000,000 =1 3,000
O AN 3&A KXl
150,000 124 & 1,800
307 QI2t0| ™ 8,000 8,000 0
02 QI2tAAMAIE E =X 8,000 8,000 0
OMENH WetM=2 HAHAY 8,000,000 =1 8,000
401 AlEHIZL 2 0HY| 20,000 160,000 A 140,000
01 Al&H| 20,000 160,000 A 140,000
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AN EIESH
M NAMEHH SFES
& MHEd Bl EEREEED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=33 2oz, Otad AMEE=s
20,000,000& » 14 20,000
Qe SIEHM XN 23,000 19,000 4,000
307 gl2tol & 23,000 19,000 4,000
02 IZHE M AHE L 23,000 19,000 4,000
OXNHES YaAZEIS 8,000
O(ME=sZdunzdg Az 3 5,000
OB ESRDURSER dAZNAER 10,000
MEHH WEME EIXAMY(EX) 15,000 15,000 0
< 4,500
s 10,500
101 14 Hl 14,000 14,000 0
< 4,200
[ia 9,800
04 JIZHHZ22XRHEES 14,000 14,000 0
OMEHH wetd=E HA 14,000,000& 14 14,000
= 4,200
s 9,800
201 et 1,000 1,000 0
< 300
[ia 700
01 At 22l 1,000 1,000 0
OMEHH wetdsE HMAYR =2
1,000,000& 14 1,000
< 300
[ia 700
et MEI2t AN (EX) 33,000 50,000 A 17,000
< 10,000
[ 23,000
201 -4 20,000 25,000 A5,000
< 10,000
[ 10,000
03 & AL2 Gl 20,000 25,000 A5,000
O&d=1000cl2 &4d3 AL 20,000,000& =14 20,000
< 10,000
s 10,000
401 Al HI R 201 I 13,000 25,000 A 12,000
01 A& HI 13,000 25,000 A 12,000
Od=10002l2 &4&3 ALY 13,000,000& 14 13,000
QA 2HS 0tad dEls =4 200,000 0 200,000
s 100,000
e 100,000
401 A& HIZ 201 Y| 200,000 0 200,000
s 100,000
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EX: sH3Es
Mz NHAMEHH B ES
G s EX e (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 100,000
01 Al&H| 198,560 0 198,560
A =2X5 02 MEls X4
198,560, 000* 1Al 198,560
g 100,000
= 98,560
03 AlIE 21| 1,440 0 1,440
O2a =235 0ral2 MEels =4
200,000, 000%0.72% 1,440
EE 8HIIEE XN 28,184 19,964 8,220
st a2l Bt 28,184 19,964 8,220
SEANERE=S 2Ud 28,184 19,964 8,220
201 gBt2Ad| 23,184 15,964 7,220
01 AP 22| H| 13,484 9,764 3,720
O&tAMNMNaELZ2 DKM HE 7,400
—&I|2 400,000 *23| 800
=52 300,000 63| 1,800
—SE2(HEx) 800,000& =63 4,800
QA =Z2 X ey
400,000 =44 1,600
OSIMAEEZ2 2ot EaE
50,000 x24 4 2«33 3,600
OB MNAEEZ2 &8 IUsSOolMEI=S 584
-8 o022 22,0002 x12& 264
—XNES0IH =2 802 *x4,000AH 320
QEIFAINEEESZ JIAAHT =2
300,000& =14 300
02 2224 H| 9,700 6,200 3,500
OLZHIDEXNA EEH=2 400,000 x23| 800
QA= DAAN &2SH = 8,900
— &2 1,300, 000& *23] 2,600
—-S5EF 350,000 63| 2,100
—SEs=2(Ex) 700,000 x63| 4,200
202 o4 | 2,000 2,000 0
01 2Ll 2,000 2,000 0
OtANAAREEZ2 AL =8 |
2,000,000 1 2,000
303 22 3,000 2,000 1,000
01 LAZ 3,000 2,000 1,000
OtANLESZ2 AL oHEE
3,000,000 =1 3,000
S olead 28 877,193 284,195 592,998
= 436,880

- 407 -




AN EIESH
M YPHE Hoed 248
2

Ee: tolEtd X2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 73,640
= 366,673
Holetd X2l 877,193 284,195 592,998
= 436,880
&< 73,640
= 366,673
HOI1E=S& 2 29,528 30,728 A 1,200
201 gBt24d| 28,528 26,728 1,800
01 AP 22| H| 21,728 21,728 0
OSB=FI|I| BEEHUAN =28 L AQE 2
Q! 1,000,000& =14 1,000
OUIIHBEAL QATAN ZHE2H 448
500, 000& *20JH 2~ 10,000
OUIIHEANE SHIIERE M
10,0002 x2008 2,000
OAFWSAE (=AM S) AEZEH T2 2
300,000 x3H 900
Ot oig s 2@ 3l
1,000,000& =14 1,000
OAF QAT A =2 45,700 *403| 1,828
Oeloesa2 dZA =82
200,000 x25JH A~ 5,000
02 2324 6,800 5,000 1,800
OXNsS2FILED KK 2 5,000,000 =1 5,000
OIIE="a S (HD], S4l)
150,000& x 1200 & 1,800
202 044l 1,000 1,000 0
01 2L I 1,000 1,000 0
OUDIBBEAL B2 U 2o AREX Of
Hl 1,000,000& =14 1,000
oEsdy =5 25,667 25,667 0
= 7,700
= 17,967
307 212t0| ™ 25,667 25,667 0
= 7,700
= 17,967
05 QIZ2tE 2 25,667 25,667 0
OE=sds 29 25,666,660 x 14! 25,667
& 7,700
= 17,967
N=sAHUY E2AE 7,378 0 7,378
= 5,270
= 632
= 1,476
402 SI2F X201 M 7,378 0 7,378
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2N
X ZH -
L= B

el

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
12 JIEtE2 A= 2,000 2,000 0
OO AEE E=X4 2,000,000 2,000
JIEHs HE(BX) 300,000 0 300,000
= 150,000
= 150,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
= 150,000
= 150,000
01 Al& B 300,000 0 300,000
OHAEAZ A HLtet 300,000,000 14 300,000
= 150,000
= 150,000
IISHSIUHE ESFAZQIER AH(EX) 38,000 38,000 0
= 19,000
o= 7,600
= 11,400
301 et A= 38,000 38,000 0
= 19,000
o= 7,600
= 11,400
12 JIEtE A& =2 38,000 38,000 0
OJIRHTUHE EHAEOER 38,000,000% 14! 38,000
= 19,000
= 7,600
o 11,400
O ABERS XK (EX) 8,000 8,000 0
= 4,000
= 4,000
201 LBt | 8,000 8,000 0
= 4,000
= 4,000
03 A2 HHI 8,000 8,000 0
Ol AEHER2E HWERZAa XN
8,000,000 =1 8,000
= 4,000
= 4,000
IS X POHRIK(2I2H) 300,000 90,000 210,000
= 180,000
& 36,000
= 84,000
402 SI2FXHE0| M 300,000 90,000 210,000
= 180,000
& 36,000
= 84,000
02 CIZIXIEAIS X (0| XM THL) 300,000 90,000 210,000
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AN EIESH
M YPHE Hoed 248
2

S UoEad si2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OIS PN (212
300,000,000 » 1 300,000
= 180,000
< 36,000
i 84,000
&I OIEX E= A 12,500 0 12,500
2 6.250
s 6,250
402 2I2H X201 M 12,500 0 12,500
2 6.250
s 6,250
02 QI E2AL EZ (OIS ) 12,500 0 12,500
OHEIIOIEXN ESALY 12,500,000% 1 12,500
= 6,250
[ia 6,250
HIIZ2Xel JIBtAlE &5 2,429,922 2,198,237 231,685
= 272,980
< 11,900
e 2,145,042
=g Hol=s2el 2,429,922 2,198,237 231,685
2 272,980
< 11,900
s 2,145,042
MeEoISEH =& 1,447,074 1,315,697 131,377
101 @144 Hl 31,032 51,000 A 19,968
04 DIt Z2XREES 31,032 51,000 A 19,968
OMEHWHIES JsSHele 29 31,032
201 Let24d] 192,344 140,844 51,500
01 At 22l 156,488 108,988 47,500
oMl =H18 DEEFL ¢
2,000,000 »14 2,000
OSAEMY D S2AENEI HMHE L A5
6,000,000& 6,000
OsASMdI SEH 2= HMA
3,000,000& » 14! 3,000
OMagMY ) Zeltis 88 S
3,000,000 » 14! 3,000
O=Etd3zzs =& 2,500
—XRIISYEI ol ALHE & X
2,000,000& » 14 2,000
—&A & 7Y 500,000& 14 500
OAEIA HZE 3,600
—HEHIIES &5 AEA 800& *2,000% 1,600
—HIIE S¥€SF0| ZOH AEIA
800& *2,500% 2,000




EX: sH3Es
M HIIZSHE JIBtAIE &=
e XNF=EE HoIS2el
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
Ollgtg? =8 22 Ko(1a2E 22
HE2ES) 2,200
— 30 1,200,000 x14 1,200
—EB= 1,000,000& =14 1,000
OMAUJIEEM & SHED NS 3 S|
3,500,000 3,500
OsY0IE(ME) Ha2ldl S 35,000,000 14 35,000
OMYID EHE) =2 25722 1,400
— S35 600,000 600
—GCE= 800,000 800
OSAl2 £HESAXRH(BY) 22| XA
3,000,000 =14l 3,000
OSAS 2HEAK(5Z) M= 7Y
1,000, 000& x 14! 1,000
OUIAMX E MYD|l HMel g2
5,000,000 =14l 5,000
OFFAAAT B AKX STl X3
4,000,000& * 1Al 4,000
OEEI &2 CCTV FANE
9,000,000 =14l 9,000
Os84A=E &2 Heldl duyd =
47,0003 =120 & ~170H 9,588
OLASE X & SA22l 8,000,000 «14! 8,000
Osd 2 22 EY A
60,0008 *8H «103] 4,800
o248z &= 5 22 2,400
— &= 5 ¢ 8% 200,000 1,600
— &5 2l 82 %100, 000 800
O=H MHI] MHel h=H 30,000,000& = 14! 30,000
O8H A=) &L 2x AYDI] Hel XN&
10,000,000 = 1Al 10,000
Osd MY Il =H SAA =&Hl X2
2,000,000 =14l 2,000
OMEAE HIIS2 M2 B2 550& %10, 000& 5,500
22394 35,856 31,856
OHJIS2dH dHe 2EF2Y 856
— o= 330! *2,0000H 660
—SIRE 1,960& *1000H 196
OCCTV dMIIe=2 S 3,000,000 =1 3,000
Ost=2HII=E 3 A3 H| 2,000,000& =1 2,000
OMYIJl SYEED| Z2AE CCTV s3I & AIS
= 1,500,000*12& 18,000
OsSY Mes+H st2x sSAdls
3,000,000 =4CH 12,000
202 04| 10,000 10,000
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223
HIISXel JIBAIE &5
A=sd HolS2el
i =
SA-EB - BAEH) - NRAY - BHES e
=L 10,000 10,000
OMEEEIIE X NEHIIS NEH= ol
1,000,000& «14 1,000
OdEHIIZ SHEEDI OF?_*EF’% O4 Hl
2,000,000 «14 2,000
QugMYy I (Z2AALHIIS Bte) =H2E
HMel K& ol 3,000,000 =14 3,000
O3AE =HEMI(4Y) SEAHHI
2,000,000 «14 2,000
O=&EUEA & LAHMX S XaJ] HMel et
2 ol 2,000,000 =14 2,000
M= dl 92,522 92,522
M= dl 92,522 92,522
OHgZsS HAX =HE & 500,000& «7H 3,500
OSASsXdI 2FHMHE EFHM 2
100,000& x50& 5,000
OxAESHENSE & HESOIHHH = 43,510
—AAESE 104 362 56, 00004 2,016
—AAESE 204 543 +120,0000H 6,480
—AUESE 50¢ 1182 210, 0000H 24,780
—AAESE 1004 2083 =18,0000H 3,744
— O S0tH 104 352& *5,0000H 1,760
— W& S 0tH 504 4733 *10,0000H 4,730
OoUEL =2el=i1g ¢ 1,000,000 8K 8,000
OMEEE 438 Ng=2s W™
2,000,000 =14 2,000
ongss =cl=Heg MH 7Y
500,000& » 154 7,500
ONgss 2=l 122 7
5,000& 5004 2,500
ongss 2cl+=HE 0t 7
3503 »300H * 128 « 1200 & 1,512
O34Alg X0 & HM=(60L ,1204 2)
5,000,000 =14 5,000
OsAE =AHEJ ¢ 14,000
— 27| 602lH 30,000& 200K 6,000
— 87| 1202ld 40,000 2004 8,000
o I 2 Y| 28,000 33,000
HAZAH| 28,000 33,000
OSASRHIIZS 2UAAE AN AFES
3,000,000& =14 3,000
OYMZ NF&BI2HE AR
25,000,000 =14l 25,000
301 et d = 500 5,200
12JEEd= 500 5,200
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SN BALSY
M HIISH2 JIBAIE &5
&S NS HIIS2e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMY I EYEI ADZAZ 300,000 14 300
Ol1za838 NIZHS 200,000& » 14! 200
307 gl2tol & 452,000 286,000 166,000
05 BIZHRI & 3 452,000 286,000 166,000
OosaASMdIl fAEX™el 1,700& 160,000 272,000
O=dl & =HSFI| XJ| /AEH S
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308 XXM SOl A 367,676 647,131 A 279,455
07 IXNSHH AR S = 367,676 647,131 A 279,455
ON=A AATAHEH HIIZS B2
1,500& 100,000 150,000
OMEHIE HE2RE3 1,500=+10,000& 15,000
OZATHEES JHSIEHEANE HEES B
2= 202,676,000 » 14! 202,676
401 AlEHI L2 OhHI 273,000 50,000 223,000
01 A& HI 270,000 50,000 220,000
O g S2UTotE 2RANE s &X
120,000,000 * 14! 120,000
O+ HEE STty &Xl
150,000,000 * 14! 150,000
03 A2 2 0HHI 3,000 0 3,000
Os2dotd & AER0UH 3,000,000 x14) 3,000
HeE egael 354,940 310,940 44,000
201 €2l 242,940 233,940 9,000
01 At 22l 108,480 99,480 9,000
OXIGt =ZZA 510,000& *3H 2 +43] 6,120
O&&=+ HMelx= =ZdA 350,000& =123l 4,200
OHYISMelAld Mg ot HE S
5,000,000 14! 5,000
OZIMEEHEANE MEES =HHel SA
A =&l 3,000,000& x14! 3,000
OXBHIIZ Mel(H=s2 S) 800,000 63 4,800
OgZ0istd &gs 2 &AYst + 10,500
— =m0l = 7,000
— &5 3,500
O&I|tE2e e+ 2 150,000& *123] 1,800
OHEEANLE 228 2 1,000, 000& 14 1,000
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Omg® e HWEHII=S Mel 8,000
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— 24 60,0002 118 7,080
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OgAE E72F HMEH 60,0003 *43] 240
OEg® 2els RAEx 5,000,000& » 14! 5,000
O&=J 2z 700,000& *2CH 1,400
OMEAIE & HEEAE SR 2
5,000,000& »14! 5,000
ONEE ARa 2E2E 7Y
6,000,000& » 14 6,000
OMEL Foliolis ZHES AAl
80,0003 204 2+23| 1200 & 3,840
OHA3Dl HII2 Meldl&  5,000,000& 14 5,000
02 =224l 134,460 134,460
O & &IIR=s 2,000,000& 1201 & 24,000
O Sl (==tiH) 5,000
OEH &= AEZ 150,000& =128 1,800
O=24I KXY 8,000,000& =14l 8,000
OAR 2 He s 5,000,000& 14! 5,000
O&3stx Fatl 60,000& »23| 120
Org 100, 000& *33| 300
ozsxed 84X 85,000
—st=slE 8,000,000 = 1CH 8,000
—s==E 7,000,000 »2CH 14,000
—SISEAE (NA=E MNRAE)
5,000,000& =2CH 10,000
— & A 9,000,000 »3CH 27,000
—SAESFAEXNHE 20 13,000, 000& »2CH 26,000
OHZEHRIUN(HEE =EM 22 E)
5,000,000& 14 5,000
FO LS| 20,000& x123] 240
206 M= Hl 37,000 37,000
01 Mzl 37,000 37,000
OMEE 2598 T (AHMNM, SHHESE
XA 10,000, 000& * 14 10,000
OS2HEGHE ANE22elE cctv MEEIX S
2 10,000
OXdt=ti A= & XotAANE RXNE2E 7
7,000& +1,000kg 7,000
O+ HMelAML HE 2 S
10,000, 000& =1 10,000
401 A& HI LSO 40,000 40,000
01 A& HI 40,000 40,000
Ozels & 2&J #1) S BEx3AM
20,000,000& =14 20,000
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20,000,000 =14 20,000
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01 XA 2 S FH S| 35,000 0 35,000
OAJEAEINZE FE(22A2AHLE)
35,000,000& =14 35,000
MYDISEH MAXNSE =AHHE XA 10,000 10,000 0
< 2,000
s 8,000
201 £B-2%H| 10,000 10,000 0
< 2,000
s 8,000
01 At 2t 2|l 10,000 10,000 0
OMYIIZSH HAXS =AHEE XA
10,000, 000& » 1 10,000
< 2,000
s 8,000
SEHHE A&z XA 39,748 38,000 1,748
= 3,900
< 3,900
i 31,948
301 L2 A=z 39,748 38,000 1,748
= 3,900
< 3,900
s 31,948
12 JIEtE4 = 39,748 38,000 1,748
SEHHE =HEAZ A&
39,748,000& 14 39,748
= 3,900
< 3,900
s 31,948
StEStM eIl ZHALY 72,000 57,000 15,000
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101 1A bl 60,000 47,000 13,000
= 30,000
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M4 I12HHZ22NSES 60,000 47,000 13,000
Ootd 22RMeJl =HAY  60,000,000& 1 60,000
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201 LB-2d| 12,000 10,000 2,000
= 6,000
s 6,000
01 At 22l 12,000 10,000 2,000
O5td 2RMY Il =HAY 12,000,000 x14& 12,000
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07 IXNHMARE = 10,000 10,000 0
O&&Z at=2MgDl 3ty K&
10,000, 000& =1 10,000
< 5,000
s 5,000
=50 E ENH XNIAMY 454,160 369,600 84,560
= 227,080
s 227,080
402 RI2EX 20| ™ 454,160 369,600 84,560
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[ia 227,080
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OLFSHO0E EH NAAL(EN)
369,600,000& 14 369,600
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= 42,280
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= 6,000
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= 6,000
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201 L2l 2,000 1,000 1,000
< 1,000
s 1,000
01 At 2t 2l 2,000 1,000 1,000
onMgss wetzniel 2,000,000& x1& 2,000
< 1,000
[ia 1,000
sk delsy 3 1,902,640 1,727,120 175,520
I EEE33XelAd 2223 1,902,640 1,727,120 175,520
NEZLSSH2AANLE 22 25 1,902,640 1,727,120 175,520
101 @124 dl 4,000 4,000 0
4 D12t Z2XESES 4,000 4,000 0
OM=ZY o2 2,000,000& x14 2,000
OE&X == A & ==x=2¢l
2,000,000& x14 2,000
201 YBr2 Y 459,540 430,620 28,920
01 At 2teltl 60,840 31,920 28,920
ONEEra3Mel HA2R Sl
3,500,000& 14 3,500
OAMEH 2H=5 ¥ 1,500, 000& 1 1,500
ogay a3z ¢ 300,000& x23| 600
oxgs 7Y 1,800,000& 14 1,800
Ooxgst 7¢ 1,800,000& 14 1,800
O&=D| 2z 30,0003 +2CH+123 720
O=x& 248 =8 3,000,000 » 14 3,000
OAler 2l 7,000,000& x14 7,000
OAEZHl |XE=Hl 2,000,000& » 14 2,000
OJ=Eh sk 83d 24 =2
10,000, 000& » 1 10,000
O 28,920
— 243 60,0003 x1H =117 7,020
— =35 60,0003 1 »365 21,900
022329 398,700 398,700 0
Oz |®=0 1,000, 000& 1 1,000
Oges g =70 4,200,000 14 4,200
O&J|tE e e+ 7,200,000 » 14 7,200
O=24d sX2el 3,000,000 x14 3,000
OgesE g 2el 4,000,000& x14 4,000
OXIIRS 29,000,000& x12& 348,000
OHMelAle & FHl &
20,000,000 x 14 20,000

- 418 -




SN BALSY
M JiE2LHsY 22
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAgotAME 3 | 100,000 x 14 100
OAagAE HE L 22 2,000,000 =1 2,000
Qa2 2 4,000,000 x 1 4,000
OFEAN &= 1,500,000& =14 1,500
OFA 28 3429 3,000,000 =1 3,000
OSYS XUBE WY FTAN £42
700,000 =14l 700
202 04| 5,000 5,000 0
01 2Ll 5,000 5,000 0
OIEEL 23He gR2F& 5,000,000%1&# 5,000
206 M = dl 302,000 390,000 A 88,000
01 X2 4| 302,000 390,000 A 88,000
ONESLTRHANE %4F 7Y
280,000,000& 144 280,000
OIIEEE32XMAANE FXNES NP2
20,000,000 x14 20,000
Oetd & H| ¢! 2,000,000 =1 2,000
207 A F I & 2,500 3,000 A500
01 | 2,500 3,000 A 500
OsHA AEHE IHA 249
2,500,000 =14l 2,500
307 2Iz2t0| & 450,000 360,000 90,000
05 QIZ2tREF 2 450,000 360,000 90,000
O el sdXl /Edel 4|
150,000 3,000+ 14 450,000
401 Al HI L 204 HI 677,800 525,500 152,300
01 Al&H| 674,000 524,000 150,000
OHIELIYMZIAIE =& 15,000,000 x 1 15,000
OHIELLE MZAIE JIHEH S22l
20,000,000 x14 20,000
OHIELLEMZAIE MII&H sA 22l
10,000,000 1A 10,000
OAFHZAIE A 2elt] 20,000,000& =1 20,000
O&ldlats £ X Az Hel
19,000,000& 14 19,000
O&EX™el&H |KANES 50,000,000& =1 50,000
ONTME L MBEX HBH RN+
50,000,000 =14 50,000
O&I & USHOH & SANEX
50,000,000 =1 50,000
OXS S0 2 242 At
150,000,000 =14l 150,000
OBtgX EZI|&EH E4Z2A
250,000,000 « 1Al 250,000
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2H: BEESDY
B JE2LHelsY o5
el =233 HelAE 2e2d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIEtEHl RXE=> 40,000,000& 14 40,000
03 Al S HHI 3,800 1,500 2,300
O&HXeldd SN2+ 500,000 » 14! 500
ON& s & MESH XHel38 RAES
500,000 » 14! 500
O&J & UHsHAH £H |FXNE+
500,000 » 14! 500
OXE =0 e B+=3At 500,000 » 14! 500
OftEx ZI|I&LHl E=3A
250,000,000& *0.72% 1,800
405 RHoHE S HI 1,800 9,000 AT,200
01 AL EFSFH S 1,800 9,000 AT7,200
OAMSP4A 20t & X 22 1,800, 0003 14 1,800
SteXelsEES 2,768,860 1,280,960 1,487,900
2 100,548
s 2,668,312
St=HMel =223t 2,768,860 1,280,960 1,487,900
= 100,548
[ia 2,668,312
QM Al 22 29 2,545,420 644,060 1,901,360
101 14l 5,000 2,000 3,000
4 D12t ZE2EXNEES 5,000 2,000 3,000
OM=%g o2 5,000,000& » 14 5,000
201 £B-2dH| 597,120 248,060 349,060
01 At 22l 44,320 62,860 A 18,540
OMEH 2HE25 7¢ 4,000,000& 4,000
ogaly d32¢ 200,000& »23] 400
OMS 2 HIAZSF =24l 3,000,000& 14 3,000
OBt4+H2IBT +EEH 442
5,000,000 » 14 5,000
OxgsE P 300,000& x5H 1,500
O&dst g 300,000& x5H 1,500
O 28,920
— 24 60,0003 x1H 117 7,020
— =% 60,0003 x 12 x3652 21,900
02 2324l 552,800 185,200 367,600
O&IItE e +== 350,000& 122 4,200
OaxgotMae|tHd =2 300,000& »12& 3,600
OANE=SEIIEE =2 4,000,000& *23| 8,000
OOtsdt=% Jl=&tdl  25,000,000& *3H & 75,000
OAEE & &EHl ®X2cl 30,000,000 1 30,000
OXIIRS 11,000,000& »12& 132,000
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10,000,000 1 10,000
Ozx=&XNH=s=AI|(TMS) | Xl 22
10,000,000& 14 10,000
OF&AXN=S=HI|(TMS) A=A A
4,000,000 « 1Al 4,000
OXEXNSE=HII(TMS) A A OIHl AMFE &
24| 6,000,000 =14l 6,000
oordgs ¢ 3,000,000& «1 3,000
OFANY ¢ FA 29 3,000,000 =1 3,000
Ozelild MIRRS(LAdHS, OIES6t=%)
22,000,000+12& 264,000
202 o4 H| 5,000 0 5,000
01 2L I 5,000 0 5,000
Oltsolex & SHEZA 84 S 20|
5,000,000 =1 5,000
206 M = Hl 120,000 84,000 36,000
01 =4l 120,000 84,000 36,000
O£sdotx=Hdel 42 7Y 50,000,000& =1 50,000
MM ADE FY(ENF, NS S)
7,000,000 =1 7,000
OdtE=HXMeAE NI (HAA L RAES)
20,000,000 =1 20,000
OFZEXNS=HII(TMS) 8 & ADE ¢
10,000,000 1A 10,000
OE=£xJ (= 2 A 15,000,000& =144 15,000
OHIATIN FA(EBER, ==EHIZ 5)
18,000,000& =14 18,000
207 I & d| 2,500 0 2,500
01 d32E | 2,500 0 2,500
OsHANAEHe I SHIaE 24
2,500,000 1Al 2,500
307 QI2t0| & 84,000 84,000 0
05 QIZtREZ 84,000 84,000 0
O24ot+sd X FEHel=2E|
150,000 x400= + 14 60,000
OL=ZEXS=HII(TMS) fEr2eldl
2,000,000& x12& 24,000
401 AlEHIZL 2 0HY| 589,800 226,000 363,800
01 Al& b 587,000 225,000 362,000
OSWE 2 RLFEX =&
10,000,000 1A 10,000
O4tst3 JIAHIEH X224 20,000,000 =1 20,000
Oz 4 SKANES 20,000,000 x 14 20,000
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200,000,000 =14 200,000
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40,000,000& * 14 40,000
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& 155,000, 000* 14 155,000
03 Al =TI 2,800 1,000 1,800
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O&JII&Hl &€ USHHLE |X 2=
500,000& » 14 500
ObtSdt=E ¥ SAHABZZ W ALY
250,000,000& *0.72% 1,800
402 RI2EX 20| N 1,137,000 0 1,137,000
03 212t &AL S HI 1,137,000 0 1,137,000
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1,137,000,000& =1 1,137,000
405 XtAtE SHI 5,000 0 5,000
01 XML = ZFH St 5,000 0 5,000
OMEA A U HSHY 7Y
5,000,000& =14 5,000
LABSI3ot=HelAlE 2L 223,440 0 223,440
= 100,548
[ia 122,892
401 AIEHIZL 201 223,440 0 223,440
= 100,548
s 122,892
01 A& HI 223,440 0 223,440
OYa=3ot+=HMelAlE EHYZ AX
223,440,000 » 14! 223,440
= 100,548
[ia 122,892
HYR2IHH (BHEES D) 67,188 73,524 A6,336
JlE3l 67,188 73,524 A 6,336
S3EsH JI234l 67,188 73,524 AN 6,336
201 L4l 28,188 31,104 N2,916
01 At 22l 28,188 31,104 N2,916
OsAol &F 24,188
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